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Note -

(ll Z,) 15 ovsed in 2 é:&ﬁren"‘ \)UQJS

in mO-‘H’\ o

)) Ocdavred e, e Cesy og Fwo elements

5—((‘5* ele ment s :f_; second <eleament s 2

Cr,0) #F (2,1

2) Intecve? on reel fine:
C|’z)= %XQQ’ iLde_S-

(2,1) not voed
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Def 14 A and 8 are qu‘l-é ots +than
AxB =942, | acA and beﬁ_i-
A

Ofde red pouivr
E x 11,2 x {3§ = {C\)B) (1,3)j
13§ = 1h25=0(31) (3,2)]

Note : in Sqnqrep AxB8+# BxA

Qg can 300 jinc\ QU nQCQ).)QrJ Qnd %s’cu'e/ﬂ'
condition Jor AxB = BxA ?

£ R% = ax2={(x3)))<e(l,3e2j
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Th V AB,C AXx (B\JC)-"Q‘\XB)U{AXC‘)
R

P‘oog : :Su'rs‘} we shaff PFoO L S, €5::

Qssome x € S, then  X= (0, 4) wi

Qe A and 3eBOrJeC. 1§ 358

Flan x &€ Ax 8 ) i 56 C than

x & AxC,; in both cases XG(A"B)UQ'!"C)

Mow let's pro\e $,€5,. Assume

XeSz}' +an X € Ax B o x € AXC

Soe %= (2, 4) end €A Qid ¢y e B or
€ C xR :S S BUC) The re orr

x ¢ Ax®VUC)
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DQS: ES A s a st P(A):—ZS).SSA_}
Ex P($) = { B
ZCIDER ST

o (dney) = 49, 415, 42, 4,24

Ace Hhe 540:*{%0.1\*‘5 JDQEOW T or F?

1 ¢ 2? T

1 € P(zt) F
41)23 e &* F
,l‘) 23 e ¢ixt? F
11,24y € P(z*) T
91,24 £ 27 T
J,2§ ¢ P(2t) F
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Th 15 A has o ePements P(A) hes

2 n efa ments.

Pfoog bJ in dwction on n

: N 2 = = (A-):'n
W e MQQQ{‘O\A Yazo lAl=n => |PA))=2

# eRemeats of A
s) Poye <case 1'5 n=o° A=¢ and

P(A7=‘}¢j’ So JAl= 0 and
1P(A) )= 4 = 2°
Inductive b\-q?: Qss0 me  Thot \WA))rz”

W\)o.wne.ve_r |A)=n Sueeom lB]: N +)
Q_ﬂel b € e) ( B has Q.t ?QQ_b'} oNn e
Q.QQMO.I\“') 'H-o.ﬂ
P(B)=15S)scB  besl U]5)5B best
N—— > —— -
C D
D D = P ( B"lb£> D0 D hQ.S —2.0 QPQMQ{['}.S

] soisl | se DB So Ic] =ID|

<
@
i

So e )= 27+27= 2"
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Al er natie prosf : let A

bae o seb uwith n  efeomaents

E\Arg S <A Cbrre‘si)onés o e O-1
Stei né 05 ?QASH; n and there Qre
A" Such .S’i‘rn‘nss.

OféQf ‘H\z QQ‘Z me n+S og A rn Some
Qv bf*rqré WQa )..SQ\ Q,Q, --.- Q
the n c:\eﬁ-\'nz

n
(A) > B=4 8§) 8 isa Q)1 s¥e!
é PA) B { ) og SQQ,-,S.\.,,, .:) nao_%

) 1'5 QL. e S

508>, -‘% o f aids

's a b (JQC‘\'\'OA ( l.e. ©onedo eng
and ©ato) So P(A) has o
mQng clmenys as R
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For hw  think abeot P(P(A))
Se P(PAY) ;é’ S & P(A) o
S=4x) xsg A’S or S =

E~ PCH¥) = 44 41k}
P(P (W) = J & 48% i1t MM}}
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Th: P(Aang)= P(adn RB)

Froef : Soppese. S € P(ANB) The s
S<c ANG therefore VxeS  ¥XeAng

s x €A Qnd xeB. This means
S ¢ A end S €8 S S € f(A) Qnd
S € R(6) ) ‘l'\o-e.re.%orl S € (A n P(B)

Se PCAMD) £ PAYN P(B)D
Now asdvme SE LAY nNP(B) +Flen
S € P(aA) =nd S efP(B) So S <A
cnd S & B Fleredoce ¥x €S xeA
and x e ® So XGAHB) +hrs
Means S S AnNB S Se@Ane)
So PMAINC(B) S p(ANB),

From both \’nc%\m‘ons we  Qerive
P(ANnNd) = P(AY N P(R)

Do gou think PlAUuR) = (Ao PB)?
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Qusx?' S

l& a  set
’Hno_n we

fo@ éox

<Qen beeowg "'\‘o I',AQP:}-

Can QOOk Q-t N

A-"—'iﬁl Sis a set ond Sé--gj'

Q\:uz.S‘hon :

dozs 'A € A ?
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